HEEHEED—

H

| H | e |

15|

e |
R
o | | o]
TR EEN HEL (AR ]
== B = = A 4 FE 4
322 REBEMBAMEE R iﬂﬁf O R
sugpE 2 (AAZEEL, AABNEBIZHTEI>ELVWED Y (2) HIAEH O BT 5|
B R |8 |[FECKBORE T = Dl
o |1 [ FE o REE =i A
Hogh | 4 |PREE - BEVAEMBELET DT EL DR % [EERL
ST IH iR L
ERe ES THRX Y H VT A8 it 3 AT
FEHIM ~ RKEH B R AL R AT R
B L ORIIES W E AR AL HIH W 7 o it e A\ I 3
P {1 1) 3 i [32o0F%—U— K| ok
LR - UEE (TeD[ZEbRATEE L ¥ — [k %1k (402-7830) WOBHEFL[ALIET T sosenemnn] ST
BHERR O
1 FEMEROERNE
FEH (TFE- 1) ZE50VOREICT D) LODOFED) FENR
RFEZORNEE T, REFICEESEDLZEAREY Th |[RiEFORVWIEE UL, REHFICEES T EATEY THL EROONDLEHE, AFTESET
HLBOENABEICRIT B, BE - RH#EOEH, BT D2 DOMERHERE EEERMHYY) ZRETHEELE LT 2,
=
¥
1
o
SR 2 1 R 2 2 SR 23 TR 2 4 SR 2 b I
- HEATRALE N LA | - AL AbE N ILFE R T |« ALt AL T | - e fa i ARk LA F 3 | - fLasfa bk AR L2 5
EMhe L DBRARMROETE |2HE & OBERHROEE (LA L OFERHUROERE |HE & OFERHROEERD | e L OFRERO L OER
RS EIe 37 BHO AL BHO AL KA RS I 37
RO MG - TR R | RO RS - Sk R | - RO - FR R | - BB O M - F0Rk BB | - BEA O R - R - R
. RO LRI ORI s R ONGEAR L OEAEH s ROEERETE
% - s - EREES - RS - (R - SRR
N
E
2 H¥EaXb
SRR VA R 224 BE R 234 B SRR 244 PR 254
T R TH W TH R FHH R F1 R
R 270, 759 245, 688 284, 823 241, 704 281, 723 238, 555 278, 292 243, 223 278, 459
HOE (%) - - 5. 2% -1.1% -1. 2% 0. 1%
% wEIRE 6, 714 3, 653 3, 653 1,834 1,834 3, 224 3,224 2, 757 2,757
wl ANFE | EFEREA 0 0 0 0 0 0 0 0 0
# N 6, 714 3, 653 3, 653 1, 834 1,834 3, 224 3, 224 2,757 2, 757
- [ JekE 32 HA 4 0 0 0 0 0 0
m WA 249, 402 225, 559 263, 445 222, 500 260, 679 219, 618 257, 335 221, 945 255, 341
o 0 0 0 0 0
Z Ol 0 0 0 0 0
— AR (BL5F) 21, 357 20, 129 21, 378 19, 204 21, 044 18, 937 20, 957 21, 277 23,118
B N wEIRE 1.1 0.48 0.48 0.24 0.24 0.43 0.43 0.37 0.37
REN S mma 0 0 0 0 0 0 0 0 0
B N ek LN R ~ O EE B (V2 B i )
3 HEROIER
FEIEAL B ONERCIR L SERR2VAERE | PR22MEEE | SRR3R | ERRQAERE | ERR254EE
R R
% A
I [ ik B | [k | T BIERR
= R R
A
Wil [ ik B | [k | T BISERR
. A . R R
AR ES (3ALHBIE - fEFEIREED)
& ES 85 92 93 82
gl WAL [ N | kA | [k | T BIERR
= I
ES
Wi [ A0k B | [ | TR




